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Volume: Finding the Number of Cubes in a Prism

Problem 1:

The right rectangular prism-shaped box shown is filled with
one-centimeter cubes.

How many one-centirgeter cubes fit within the prism?
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Problem 2:
The right rectangular prism-shaped box shown is filled — H:é;m |~
with two-centimeter cubes. X \ M H/ B
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How many two-centimeter cubés fit within the prism? 8cm \_/)
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Problem 3:
The right rectangular prism-shaped box shown is filled with 0.5--centimeter cubes.
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How many % -centimeter cubes fit within the prism? _, 4
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Problem 4: °

Small cubes with edge lengths 8 14 inch will be packed into the right rectangular

prism shown.

How many small cubes ax@eeded to completely fill the right rectangular prism?

What is meant by cubes with edge
length of % inch?
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480 - 1/4 1n cubes can fit within the rectangular prism.


Melissa Brightman
10 x 6 x 8 = 480
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480 - 1/4 in cubes can fit within the rectangular prism.
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